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* The problem of dimensionality: We need indexes
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Index New York City Los Angeles Index New York City Los Angeles

11 S 1.00 | S 1.00 1S 1.00 | S ;..00
2| S 2.00 | S 2.00 2 Z.AD
3| S 3.00 | S 3.00 3 A 3.0(x
4| S 3.00 | S 4.00 4 S 4.00\
5/ S 5.00 5/ S 5.00 | S 5.00
6/(S Median 6.00 6| S 6.00 | S 6.00
7| s 7.00 | $ 7.00 7| s 7.00 ||$ 7.00|
8|S 8.00 | S 8.00 8/ S 8.00 ¥ 8.04
9 $ 9.00 | $ 9.00 9| § 9.00 | S\ 040
10| S 11.00 | S 10.00 10| S 11.00 | S \ )0/.00
11| S 66.00 11| S 66.00 o




Measures of Center

* Mean, Median vs Mode
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Simpson’s Paradox

FPISER B4 AN 2000 2000
AN 4 2

tr == 0.002 0.001
24 ANE 600 2500
AN 9 25
HE= 0.015 0.01
= LYN 2600 4500
AN 13 27
S 0.05 0.06




